WS: Stoichiometry #2

Directions:
Solve each problem below showing all work. Remember, balanced equations are

needed for problems in which two substances are involved (coefficient ratio).

1.
54.0 grams of aluminum react with oxygen. How many grams of aluminum oxide are


produced?

2. 
In the decomposition of calcium carbonate. 88.0 g of carbon dioxide were produced. How


many grams of the metal oxide were produced?

3. 
1.30 g of zinc react with excess phosphoric acid to produce how many molecules of hydrogen


gas?

4. 
How many cubic decimeters of ammonia gas are produced from 30.0 L of nitrogen gas and an


excess of hydrogen gas?

5.
What mass of bromine gas is produced if 7.5 moles of chlorine react with an unlimited


amount of hydrobromic acid?

6. 
9.871 X 1022 atoms of copper and excess nitrous acid are needed to form how many formula


units of copper (I) nitrite?

7.
How many grams of heptane, C7H16, are needed to produce 8.0 x 103 g of water in a combustion reaction?







